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T17—) 18&B(EH5T 7| * ob | 2v 1 2 |0.50| 2 6 [0.33| 14 | 25 [0.56 -11] 2 5
2| ®mHY 227742 A | 1 3V * 2V 2 2 |1.00] 5 6 |0.83| 25 9 |2.78] 16 | 1 2
RIF=% /e =27 6| 1D | 1D % 0 2 10.00| 2 6 [0.33] 16 | 21 [0.76 -5 | 3 X
F£27T—)L 1EAEHLLFH 8| * 3V | 1D | 3V | 2 3 |0.67] 7 9 |0.78| 38 | 23 |[1.65 15 | 2 4
2 @b ESHS 5T 5] 0D * ob | 3V | 1 3 [0.33] 3 9 10.33| 27 34 (0.79 -7 1] 3 8
3| K I 2| 2V | 3V * 3V | 3 3 /1.00| 8 9 [0.89 42 19 12.21] 23 1 1
=% VN A== 111 OD | OD | OD % 0 3 10.00 0 9 [0.00) 12 43 |0.28| =31 | 4 X
T3 T—)U 1|m@EHY 12770438 | 4] % 1D | 3V |1 3 10.33] 5 9 |0.56 32 | 28 |[1.14 4 2 6
2 54t 4B 10[ 2V * 1D |1 3 10.33]| 4 9 10.44) 27 | 33 /10.82 -6 | 3 Ji
SIIFLEET 9] OD | 2V * oD | 1 3 10.33] 2 9 10.22) 23 37 |0.62] -14 | 4 X
AREE-T 31 2V | 2V | 3V * 3 3 1.00 7 9 [0.78/ 39 | 23 [1.70] 16 1 3
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%2 J—)L 3 KILEH 3 3 |1.00 8 9 0.89| 42 | 19 2.21 1
F1T—IL) 2]RETY 127U A | 2 2 [1.00 5 6 | 0.83 25 9 | 2.78 2
E£3T— AmEHFE-T 3 3 [1.00 7 9 0.78 39 | 23 1.70 3
F27—) | AEHLFF 2 3 10.67 7 9 0.78] 38 23 |1.65 4
E17—)L 1 BEHSD 1 2 1050 2 6 0.33 14 | 25 0.56 5
EI3T—IL 1 BHEMY 127710%-2B| 1 3 1033 5 9 0.56| 32 | 28 1.14| 6
37— 25 d+$B 1 3 10.33 4 9 0.44] 27 33 |0.82 7
F2T7—) 2@LLEHSST 1 3 1033 3 9 0.33 27 | 34 0.79 8
£37—)L 3FLEET 1 3 10.33| 2 9 0.22] 23 37 |0.62 x
%1 7—)L 3 EdLpA 0 2 10.00| 2 6 0.33] 16 @ 21 |0.76 X
£27—)L 4EH0de4c 0 3 000 O 9 [ 0.00 12 | 43 10.28| x
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